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PART A: ‘Vucahulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
each sentence. Then mark the correct choice on your answer sheet.

0.

10-

The two lawyers —- their contract and each opened a separate office.

1) resigned 2) hindered 3) penalized 4} terminated
The police ordered the robbers to -=—--—-- their weapons.

1) cease 2) settle 3) surrender 4) collapse

The nation’s economy was largely ———--—- by foreign aid.

1) imported 2) sustained 3) disposed 4) accompanied
Unfortunately the current law —--——- any improvement in the country’s trade with
foreign countries.

1) impedes 2) compels 3) exposes 4) abstains
They are using that hall to hold their party .

1) juncture 2) convention 3) intersection 4) circumstance

Talking about money now would be a from the main purpose of this meeting.

1) digression 2) detention 3) disputation 4) dispersion

There have been calls for the drug’s immediate -—————, following reports that it has
dangerous side effects.

1) protest 2) discharge 3) disposition 4) suspension

I have not read any of the previous chapters of this book, so you will have to give me a
brief -—=—maemm-,

1) outlook 2) synopsis 3) panorama 4) prospect
Practical experience is an —--—— part of this course.

1) integral 2} adequate 3) accelerated 4) expository

Some of these plants are more - - to frost damage than others.

1}| inherent 2} furthmmmg 3) susceptible 4) instrumental

11-

12-
13-
14-
15-

We have said earlier that climates are c:trntmuuus\y changing, (11} ----m-enm- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) ---------- are a result of
mankind's own activities. Scientists have been able to reconstruct accurately the average
temperature of the Earth (13} --—--—-- vears using millions of individual thermometer readings
(14) —emmmeee world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 0.5°C (1°F ). The warmest years all occurred in the 1980s. Although it
is not yet known for certain, (15) —--—--—-- explanation for this global-scale warming is the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

1) There thought 2) It was thought

3) It has been thought 4) There has been thought

1) we have seen 2) we saw them 3) that have seen 4) that saw them

1) over 100 last 2) across 100 last 3) over the last 100 4) across the last 100
1) of around 2) from around 3) of around the 4) from around the
1) likely most 2) most likely 3) the most likely 4) likely the most
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Part C. Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.
— o — = — — — — — —

PASSAGE 1:

Once the blast have been carried out, it is necessary to analyze the obtained results, as its
interpretation will give the successive modifications of the design parameters for the following
rounds. To achieve a global evaluation, the following aspects must be snalyzed; fragmentation
and swelling and also displacement of the muckpile. When photographing or video taping rock
fragmentation, sampling strategies have to be carefully considered, in order to produce an image
that is both capable of being analyzed , and representative of the entire rock assemblage. A
consideration is where the image is to be taken. It could be the top of muckpile, the front edge or
a cross section of the muckpile as it is being mucked. It could be photographed in the back of
haulage truck, the bucket of the loader or on a conveyor belt. Or it could be photographed in a
stockpile. All strategies are valid but each must be evaluated 1o ensure good picture quality (not
obscured by dust), and representative sampling (not skewed because of some size sorting by
mechanical processes). Another consideration is scale of image. At the very least, the area must
be limited so that the individual blocks can be recognized by the image analysis algorithms. If
zpom-merging technigues (images at different scale) are to be used, an appropriate stralegy must
be employed so that the relative number of images at each scales somewhat reflect the different
in scale. Furthermore, when zooming, care must be taken to avoid pointing the camera at zones
of large or small blocks that might attract the eye. A final consideration is the angle of the
surface being photographed with respect to the camera. Ideally the surface should be
perpendicular to the direction the camera is pointed, as that eliminates perspective error.
Perspective emor can also be reduced by using camera lenses with a long focal lengths were
possible. As an alternative, the image can be rotated to compensate for oblique angles. This
requires to perpendicular scale bars to be appropristely placed in the image.

The main idea of this passage is that:

1) Camera specification 2) Photographing

3) Rock blasting 4) Rock sampling

According to the text the photo should not be taken from:

1) Conveyor belt 2) Top of muckpile

3) Areas which obscured by dust 4) Back of haulage truck

“compensaie” means:

1} Consider 2) Recognize 3) Reconfirm 4) Counterbalance

According to the passage “perspective error” can be reduced by:
1 }zoom-merging technigues

2) Camera lenses with short focal lengths

3} Holding camera with inclined angle to the surface

4) Tilting the image in order to compensate for oblique angles



20-

21-

22-

23-

AMNIY: dres pas () (pavasi § gogos) (cunalSl 4l

“Muckpile” is:

1) spoil area

2Yy bench blasting

3) The unwanted material especially rock

4) The broken material that has been placed in a blasted area

PASSAGE 2:

The mining methods which are used in the small scale operation or in limited

scale deposites are substantially different from those used in large scale

operations.

Large scale operations required heavy equipment for drilling , loading ,

crushing and transporting ore.Most small mines are not able to tolerate such

delays and they required high expenditure and therefore use methods with

lower capital costs and shorter development time.

The mining methods for large scale operation are involve a great deal by

money and generally mechanized with less labor forces and are classified in

to longhole open stoping , cut and fill stoping , shrinkage stoping ,

mechanized sub-level stoping , sub level caving and black caving.

The mining methods used in small mines with limited capital resources , high

levels of manning and limited technical support are open stoping , Room and

glill]z.ur, square ~ set stopes , Timbered stopes , Shrinkage stoping and Top
icing.

It is flexible interms of size output levels and degree of mechanization.

Room of pillan method can be used in thin Jaminar deposite Such as clays

and evaporates.This system of mining in cyclic with drilling blasting and

loading following in sequarce around a number of working places.

Square — set stopes can be used only in weak ore bodies which can obtain

cheap labor and cheap timber.

Top slicing methods are used for thick and flat deposite with weak roof

conditions.

Shrinkage stoping may be used in mines with medium strength country rock

and with ore which will fragment with blasting.

Timbered stopes is simple and well suited to small mines and can be safe and

prodactive if properly designed and managed.In narrow veins stopes can be

supported by using timber posts or stulls which are installed between the

hanging wall and the footwall.

The method is being used mostly in large scale mines is:

1) open stoping 2) Top slicing

3) Room and pillar 4) Mechanized sub-level stoping

The best method for weak ore and where the cheap timber can be obtain is:

1) Top slicing 2) cut and fill 3) Square- set stopes  4) Timbered stopes

For weak roof conditions .....

1) Room and pillar is suitable method for thick deposit.

2) Topslicing is suitable method where deposit is hilly and thin.

3) Top slicing is suitable method where deposit is flat and thick.

4) shrinkage stopping is suitable method provided deposits are flat.
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Three mining method used in mines with low capital resources, high levels of maning and
limited technical support are:

1Y sguare- set stopes- room & pillar- cut and fill

2) Timbered stopes, Top slicing and block caving

3) open stoping-shrinkage stoping and Top slicing

4) Room and pillar- cut and fill-Block caving

25- According to this passage, the mining method which is suitable for thin laminas days is:

1) cut and fill 2) Room and pillar 3) open stoping 4) shrinkage stoping

| Choose the best choice (1), (2), (3) or (4) then mark it on your answer

|
| sheet. !

— : _— |

26- The physical basis of the seismic method is that large differences oceur in the velocity of
sound waves in .....ceoeninnnns
1) different types of deposits 2) different geological strata
3) different times in same strata 4) same bed but different localitie’s
27- The surveys that make the use of variations in the .............Field caused by the
properties of subsurface ore bodies.
1) electric 2) electronic 3) geophysics 4) magnetic
28- Preference is given to .............. diamond drills to be nsed for underground locations.
1) air- operated 2) gasoline- engine 3) diesel- engine 4)hydraulic-feed
29- In sampling and valuing testing for quality of an ore is ealled ..............
1) assembling 2) assaying 3) assisted recovery 4) associated sheets
30- Diamond drilling ................ Compared with rotary drills.
1) is usually slower and more expensive 2) 18 good for geophysical logging holes
3) does not deliver a core sample hole 4) cheaper and faster for hard rock
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